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Problema 1


[image: image1.png]BUCK-~BOOST CONVERTERS
7-12 In a buck—boost converter, consider all components to be ideal. Let V,be 8-40V,V, =15V

(regulated), f, = 20 kHz, and C = 470 wF. Calculate L_;, that will keep the converter operating
" in a continuous-conduction mode if P, = 2 W.




Problema 2


[image: image2.png]7-13 In a buck—boost converter, V, =12V, V_ =15V, I, = 250 mA, L = 150 pH; C = 470 pF, and
. [, = 20 kHz. Calculate AV, (peak—peak).




Problema 3


[image: image3.png]7-14 Calculate the rms value of the ripple current in Problem 7-13 through the diode and, hence, through
the capacitor.




Problema 4


[image: image4.png]CUK CONVERTER )
7-17 In the circuit of Example 7-3, calculate the rms current flowing through the capacitor C,.




Problema 5


[image: image5.png]FULL-BRIDGE dc-dc CONVERTERS
7-18 In a full-bridge dc—dc converter using PWM bipolar voltage switching, Voo = 0-5 V. Obtain
V, and I, in temms of given V, and .




Problema 6

Repeat Problem 5 for a PWM unipolar voltage-switching scheme
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